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I Td B0, FRA Fel B, JAAR TG A9, I 6 hao Aeid Th $Hae ard Hivd ?

(a) TR T B WA Fal, Teod el
(b) TR Ha, Ha 3007 TAF B,
() TR Hdq, Fal frem aow B
(d) TR q, FHal, IO BN,

T HIvr faur/ faum Ster o1med ?

1) (a) 30T (b) ) (c) 3nfor (d) (G, by ®= @) (d) w
‘dary firestl Sair v’ ¥ faue v g o 2

1) faurmet (2) ErRrEt 3) fomreft (@) Hopareft
TeBuH! Irg formfaeiar Syl [ e 3 99 S ?

(1) ‘sEEs®w? @ | EE (2) oTESS I qH, '® T 2

(3) 'oTEES H g & JIEH 2 4) THES | @12 'qA e THH
el 1 e T il ?

(1) T+ AW (2) ¥+ HFR (3) W + AW 4) W+ HAX
T A Fer el veeT= o veg Sfest ¢

(a) PN (b)y &A™ (c) dEFH (d) HRA
It 3NN

(1) &K (a) SR dTH! 96 9 (2) W (b) MU () T ! T I

(3) K (c) TSR Frh! §E TH (4) wH (d) VR FqH FE TH

‘g’ A1 vl faeg 1Y o ?

() ST T (b) EAiearr g9
() S (d) FSTER
"Tt'l'hﬁ 3#{' :

(1) (a) I SR 916 99 TH (2) (b) FF T Sh! T T
() (c) FF TSR aTk T T (4) (d) F ST A6 99 TH
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7. WOSUH! STESEG TS e SeE! ¢
1) THE, WS, TES, N (2) IHY, Ioa<, IV, I
(@) fuwh, sfuer, Afucaa, seag  (¢)  foam, faw, fos, favan

8. wow fag’ w= e .

(a) FidwR (b) TR (c) d =
i I
(1) K (a) IR R 6 TR (2)  Eoki () TR dTh! §d I
(3) W (c) FEX d1h! §6 I (4) | FK (d) T FqH TE TH
9. ‘am'mmm@ﬁaﬁﬁmwumﬁm?
(a) I (b) HGH (c) Tehe (d) T
it 3 :
(1) (a) P U aF W I{a 2) (a) 9 (c) T IS ST T T

(3)  (b) K & ! F A F (4) (c) T (d) e S Rt He I

10. ‘ISR VAR ATA] TS U Wd . STERfE vkt favedt sitesan ¢
(a) fedten Byt (b)  wemn fawerd () T fawet  (d) =geff favsd
it T :
(1) ki (a) SRS St 96 9 (2) WK (b) T (c) SR aH! T TH
() HE (c) IR T Td T (4) T (d) TR A HE TH

11. 37N fea@R 9@ TEed . A1 Ao 3URREd == Yeh ShivT ?

(1) &g forarag (2) fEfa fhaug
(3) v fRame 4) wESE fRamR
12. @R 9= 38 FA ?
(a) THIET A AR (b) URHF[E, AR Fo@ IAR
(c) THERER @R BN AR (d) SERE AR H AR
F{SUH! IR faum,/ faum siET e ?
(1) (a) 3T (b) W (2)  (b) 0o (c) HeF
(3) (a) 3 (d) Pk 4)  (a), (b) 30T (c) Fed
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13. Toiots!  TegEnt T 6o e e -
(1) 3R, W, T4, & (2) TWY, A, S, A
(3) HEA, AR, YA, AYA (4) 9O, 9], W, T

14. TG U
(1) < I AT FIO. (2) I CAHEHET SE,

() T A YE FEA T fog. (4) T OIS TeRTE1 TER Gy TR Tl

15. ‘TR 9O Sy S RIS o3 &9 A1 WUl 5! 319 FE ?
(1) ! @1 3 7 O g2
(2) I W e A f o
(3) ST U 3T YR A@GT I
(4) IO TR0 STfty TRIaR qeur feg,

16. HIH TR TS &HE ?
(@) i AT S AU Vs (b) T SR A faeRrt weg
(c) STRIT T Warst JUINT 9] (d) T SR IO e

SIS RV faurH/ faum e o1Ra ?
(1) (a) S (b) B 2 (b) s () B
@) (o) suftr (d) e 4)  (a) W (d) B

17. ‘33 A foomn | A9 ded=t o’ A1 wieHuKidIe STHRIEd It Y WK e -
(1) Ui s (2) TEEIfuT e

(3) I g (4) STIH 9GS

THOAT HIHMEIS 9T /SPACE FOR ROUGH WORK PTO
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18. WSO W WHENIS TgH SISt 3iesan :
(a) urIR WBfavATE s Smm - F@R

(b) BTISITURT I HIOITET T[0T - fafasn
(c) TF TamHS SEm - qeTE
(d) deRaTST 9SSR - ifee
TaiE I

(1) K (a) @ (b) R FH ¥ T (2) HeK (b) F () TV At 6 I
(@) K () F (d) R TH 9d g6 (4) B T 4 sl

19. oRYaR 9 319 A foda St sfesa -
(1) HIMIO AN - WM TEEE 3T
(2) o faao - €I g @
(3) HBAHA W TS - WA
)

(4) Y@ USh - iR

20. W Ygoad Faagar (g <rsf17—!133%vm1?
(1) 3=, sfaet, e () w@HivE, IR, gatee
(3) W, TR, v, gn @) TR, foeft, g fe

TN JART AT AT o1 AT wy=ve (21 7 25 ) v fomr -

YRA § T 3. RIS ST € U 3R, ¥ 3N T SiToar= T_et T, §oIR) aien
3he @ TR, Facs Wiiifow gfed TR W Ufaeias, Tow s wiegfas gfed € oa o,
TS 9 e 3 TR RISBIIRT YRATE! € Tehdl TEI1Ya Soe! TR, HINHRURA o FAgaRigdd
o1 eI d STo-AEHILTE &1 YUy JoT 8. THEH AR, 91 YH=1 Sa1 T A= .
= AT o SIEe Tod SR, A1 "I v Fieedl Seghdran a1 196 Sded afgea
SR, I, AT, A, MR, A, G 91 T sweitate SHdet faas-Hireid fHeed sees 3.
MG qUaH IRAMS = Jodien fReR IaReorgd it 2 o Ied 29 oFd. S
YRATNSG WEH THEE 3 WaH e Fie THEon i JHie Fde SW-9RdaaiET 9 W
Sfequr- yReiEE 3id: 0 Idaed Aad, § ok @t R faasa - wRardte st sT=maft
YRATY S a1 9 haes SAudY Tag I SWAE! HISHl SIoH wehd a0 3R, 78 G Tl 6 ?
T s TR wSfavad a THEwEr 9 T QST & SHal @Al Fard wHe.  faen
Hiepfash THeTaH! TRl ST ARG I Uifes 7 Hih{aohgsedl UhTtH STHOTT AT TR 311!
AT Hedl, 3F Tod IS S FH, 907 1 THIHIT T IS AR, WA qSoedl 3
feeRRa STiftn Jmges JEiqT ATEi g Soie 96 STl Fo 16! S 2 Sod] I SHoar|
e § T A S/ AR ?
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21, U THEAY G0 HIUA ?

(1) FEFATE & 2) TgfeaT ST

(3) WRFiIF TRHT SIA (4) T wETY T
22, ‘31 yHIE S TR WG R A e steEy # 7

(1) YRAT=T Wik qRe s (2) =, Hifes afiferdt

(3) T THRITH W (4)  HWIST, TG | Hrifes Sitad
23,  TIATAIIA T TATHIS FHIMS T 0 H, > ?

(1) TR 39 SRS (2) SIS WS

(¢) ooy 7 Ime = yaTe (4) 9. foowien gadw
24, T ARG o= ST STURIvETST FOTT SRl ST ?

(a) «. QU T (b) TEEE FHEAHET

(c) W= |1y Hardl (d) <ESHarA] THEOTE]

i I

(1) W (a) TSR (2) T (b) IR

() EH () T (d) TR @) wH (d) TR
25. foosedn Ui=esqM STI&q vide = .

(1) YRArE 9 Qicpios TRl (2) T ST HifdHRE 3aerd
(3) sirifew TamEa (4) T UL - TF S0
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26.. Pick out the incorrect pair from the following :
(@) foolish - foolishly (b) active - actively
(c) ideal - ideally (d) week - weekly
Answer options :
(1) (a) and (b) only ) (c) only
(3) (b)and (c) only (4) (d)only
27. A semi~colon is frequently used to separate _ when the second is introduced
by one of the adverbs, therefore, hence etc.
(1) interrogation (2) w0~ o-ordinate clauses
(3) exclamation (4)  two possessive nouns
28. Which of the following sentences is g an.matically correct ?
(1) Ihave seen the film last night (2) Father has been ill since ten years
(3) Whom did you see ? (4) My brother is engineer
29. Select the correct cohes ve devi zes for the following sentences :
people fear ticc Cutbreak of the nuclear war. they are concerned
over the continuing } ollution of the environment.
(1) Firstly, Sccordly (2) To begin with, Secondly
(3) Firstly, Besides (4) Both (1) and (2)
30. Point oui the incorrect sentence :
(1) Wiluam Shakespeare’s plays are read all over the world
(2) Tne top of the temple is golden at Amritsar
(3) The essays of Bertrand Russell are not popular
(4) The tin roof of the house was thrown away in a whirlwind
31. The apostrophe is used to show in contractions.
(1) Omitted letters (2) Sudden change
(3) Separation of words (4) Quotation
32. (a) She sings good.

(b) She sings well.

(c) 1did it anyhow.

Identify the correct sentence/s.

(1) Only (@) . (2) Only (b)

(3) Only (q) (4) Only (a) and (c)

FHEAT THMTHIS NN /SPACE FOR ROUGH WORK
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33. Kamala said to Akshay, “Are you not ashamed of yourself ?”
The correct indirect narration of this sentence is .......ccoceenee
(1) Kamala asked Akshay if he is not ashamed of himseif.
(2) Kamala asked Akshay if you are not ashamed of yours.If.
(3) Kamala asked Akshay if he was not ashamed of I'imself.
(4) Kamala asked Akshay if she is not ashamed of hersel.

34. Which of the following word is synonymous # ‘Li_ht hooded windproof jacket’ ?
(1) Wind cheater (2) = Cagolue
(3) Wind coat &) Cuacify

35. (a) He was always honest, althaugh he was poor.
(b) Only hold your tongue, ziiu vou can hold anything else.
() Ihad lost my keys.tut [ have found them.
Identify the odd senter ce/s

(1) Only () (2) Only (b)
(3) Only (c) (4) None the above
36. Match the folowirg :
(a) A pe.sen who is guilty of heresy (i) Flamboyant
(b) Dosurving blame (i) Culinary
(c) * Coimected with cooking (i) Culpable
(dj . “howy and confident behaviour (iv) Heretic

Answer options :

@@ () () (d)
@ @ @ @) ()
(2) () @v) @ ()
@) (@) @v) @@ @
(4) (@v) (@) @ @

37. Point out the incorrect sentence :
(1)  The diseased sheep of the flock dies first
(2) Excessive chocolate-eating leads to decaying of teeth
(3) Itis very difficult to remember the structural formulae of all the chemical compounds
(4) Some people purchase costly furnitures

38. Choose the best alternative to fill in the blank.
My old car’s finally .
(1) Taken up the ghost (2) Given up the God
(3) Given up the ghost (4) Carried up the ghost

HeAT RIWMETST SR /SPACE FOR ROUGH WORK PT.O
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39. (a) You need not be in such a hurry, need you ?
(b) We used to play here, don't we ?
(c) Call the doctor, don’t you ?
(d) Let’s go now, shall we ?
Identify the correct sentence/s.
(1) Only (a) and (b) (2) Only (b) 4nc (c)
(3) Only (a) and (d) (4) Only () end (u)
40. Point out the incorrect sentence :
(1)  The saddest thing in our life is someday we have to die.
(2) Sonu always preferred coffee to tea.
(3) Old people always near the deat’)’s shariot hurrying near.
(4) Two trucks collided in the foggy 1 orming.
41. Which group of the following is the ¢orrect example of personal dual gender ?
(1) boy friend, female studerit. girl friend
(2) father, mother, kiri;
(3) bull, cow, ant
(4) artist, chef, singe-
42. Which of the followilg is the correct example of premodifying degree of adverb ?
(1) How thirsy; are they ? (2) The gossip is totally false
(3) Thicis i1 very best book (4) They have nearly finished their lunch
43. Whicti o' the following refer to sounds ?
(a) Babble
(b) Obnoxious
(c) Patter
Answer options :
(1) (a) and (c) only (2) (b) and (c) only
(B) (o) only (4) (a) (b) and (¢)
44. Which of the following statement is correct ?
(1) Finite verb phrases have tense distinction
(2) Finite verb phrases have time distinction
(3) Finite verb phrases have clause distinction
(4) Finite verb phrases have meaning distinction
45. ‘He managed to get across the field'.

In above sentence the underlined preposition is the example of
(1) metaphorical meaning (2) resultative meaning
(3) orientation (4) pervasive meaning

HoAT SIS ST /SPACE FOR ROUGH WORK
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46. Choose the correct sentence from the following sentences :
(@) When they reached the airport, the plane had already taken off.
(b) When they reached the airport, the plane already took ¢.f.
Answer options :
D @ @ ®)
(3) Both (a) and (b) (4) Non€ of the above
47. (a) You muststop chewing tobacco.
(b) He used to smoke very early ip 1. s chi!dhood.
(c) They have to adjust with the (haging situations.
(d) Women dare not wiik aiine .ate at night in the deserted streets.
The underlined words 'n the 7 bove sentences have ................ verbs.
Answer options :
(1) transitive (2) modal
(3) auxiliar s (4) intransitive
48. Point ot die correct sentence :
(1) " lor is chemical element (2) An iron is chemical element
(3) T onis a chemical element (4) The iron is a chemical element
49. Identify the sentence punctuated correctly :
(@) What an honest boy he is ?
(b) He says : Laws die, books never.
(c) Gandhiji led a noble life ; he died a noble death.
(d) O God help me.
Answer options :
(1) (a) only (2) (b) and (c) only
(3) (a)and (d) only (4) (d)only
50. Point out the sentence that has a correct question tag :

(I) Thereis a lot of traffic in the evening, Isn't it ?
(2) Shekhar will not be here soon, Won't he ?

(3) Itis a nice morning, Isn’t it ?

(4) Let’s go out for dinning, Should we ?

HoAl AR ST /SPACE FOR ROUGH WORK
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51. fa@ed - 17 (SIMBEX - 17) %10 31 ?

(a) 3P U IS HSS HTUHYUS (software) TR

(b) TS RRRE AR,

(c) a oty FER =it ez smeifee Faet ge i’ suaw o,

e 3T Haet

M @ 2 O

@) (© (4) FUCHET AR AR

What is SIMBEX - 17 ?

(a) It is a software manufacturcu by ~Apple Company.

(b)y Itis a computer virus.

(c) Itis joint Naval exc cise conducted jointly by India and Singapore.

Choose the correct ari:wer :

1 @) 2) ®

3) (9 (4) None of the above
52. MRS &R AYF IR IgUaral fofg Qo 0 wost :

(1) THTEA (2) ErS anfeEn (¢) wEET 4) &

This country recently confirmed it's withdrawal from UNESCO following the withdrawal

of US.A. :

(1) Palestine (2) Saudi Arabia  (3) Israel 4) Iraq
53. oTfcardl 9rTdie A9 FHE fHeauararet Herme ITEAM ‘3d SRR AleHT’

i 19 & Hol 9T,
(1) "M fereame sueEd (2) W& HEA HeEE
(3) < TR IS Fo (4) IR oS TR

To eradicate malnutrition in Tribal area, Maharashtra Govt. has started ‘Amrut Aahar
Yojana’ by the name of

(1) Pandit Din Dayal Upadhyay (2) Madan Mohan Malviya
(3) Dr. AP.J. Abdul Kalam (4) None of these

e IS S /SPACE FOR ROUGH WORK
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2018-19 =41 H=14 fGHIAR 2022 Tdq ‘Thoe eyl fTarel wesl’ (Eklavya Model
Residential School) THYH FUIM YUK 3. e Wt faum H=mm =0

(@) T FIS AT TAIAIS! T FedT JMR 3.

(b) S TR (Block) 50 TR SR SlhEe & S S 380 & Feis Te[
3Tt Teal TATYH F0AW 30

() < e[ fRuE 20,000 snfeardl =1 ft dlie & TAE T I Wedl T HLAW
RN

i SO
1) faum (a), (b) ISR A=A 2) faum (a), (c) TR 3.
(¢) faumw), ), (c) TR R (4) FE@ fq9H (a) T R,

As per Urion Budget 2018-19 “Eklavya Model Residential School” will be established by
2022, consider the following statements about it :

(@) It will be established only for Scheduled Tribes.

(b) It will be established in every block with more than 50 percent Scheduled Tribes
population.

(c) It will be established in every block having at least 20,000 tribal persons.
Answer options :
(1) Statements (a), (b) are correct (2) Statements (a), (c) are correct

(3) Statements (a), (b), (c) are correct (4) Only statement (a) is correct

THEAT HIHEE! ST /SPACE FOR ROUGH WORK
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55. Siredl o
wafere waeT &R
(a) <f&or-gd snf¥rn @ |WeeT (ASEAN) O wo|
(b) EE FEEM HEe (SCO) @ s
() Yo Frafa ST Jwi=t dsem (OPEC) (iti) eIt
d) e sreeifes dt @eT (NATO) (iv) f=wn
it Iy ‘

@@ (b) () (9
© 6 @ @ @
@ @ @ @) O
() @ @ @@ 0
@ @ 6 O
Match the pairs :

Regional Organiztion Headquarters
(a)  Association of South Tait Asian Nation (ASEAN) (i)  Brussels
(b) Shanghai Ceopeation Organisation (SCO) (i) Beijing
(c) Organization of [ :troleum Exporting Countries (OPEC) (iii) Jakarta
(d) North Atlentic Treaty Organisation (NATO) (iv) Vienna

Answer apticns
fa) = (by () (d)

ey d) (@) @)
2 W, @ @)
() @ Gv) (@) (@
4 @ @ @@ (@v)

56. feaiieN HeATEE! AR HH HOAEES 2016-17 F1 HIU FEE HESH@ T
TR fHearat ?
(1) ¥eRE 97 fash¥ AEHSe
(2) wERrE fad Hes
(B) v fam wRres
@) were 39T g faq fowm werTes

For better performance in Disable Welfare which Development Corporation received
President Award in 2016-17 ?

(1) Maharashtra Disabled Development Corporation

(2) Maharashtra Finance Board

(3) Indian Development Corporation

(4) Maharashtra Disabled and Finance Development Corporation

oA HMTETS S /SPACE FOR ROUGH WORK
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57. (a) WA iy W It HYFRIO S AT FH THeIrE! SRR Hae .
(b) TR & AR U FU[HHA Tehed FHUN 3.
(c) FERH B ARULG S T I AR,
et SN
1) % (a) (2)  (ap B2 ()
(3) (b) &M () (4) . (a) W07 ()
(a) Rooppur Nuclear Power Plant ¢ astrustion is a joint initiative by India and Russia.
(b) Rooppur will be Bangladesi’s First Atomic Energy Project.
(c) Bangladesh is a memb¢- of (aternational Atomic Energy Agency.
Answer options :
(1) Only (a) (2) (a), (b) and (¢)
(3) (b)and(c (4) (a)and ()
58. GIO@ IET o 4104 =4

(a)  THR fi=e wfar smfas wads wa oEe - sihey (Semee Hfeeniee admdis
TASI AR Tred) TR Y99 Taaudy ¥9 R,

(b) N A SR FAUR HERTY § WS 1ied T oM.

it I
(1) TaYM (a) S 3 @) foum (b) SR TR
(3) T faum g oma 4) S faum SR o

Consider the following statements :

(@) The World class technology -~ AMBIS - (Automated Multimodel Biometric
Identification System) is used first time in Maharashtra for Finger Print.

(b) Maharashtra is the first state in the country to utilize this technology.
Answer options :
(1) Statement (a) is correct (2) Statement (b) is correct

(3) Both the statements are false (4) Both the statements are correct

HEAT HWEIE! 9T /SPACE FOR ROUGH WORK
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59. HNE ATYHRTA TIEUIHIST FHreAl vt ST TRAA Tl foesdt 31 ?
(a) WME feeniEr SEE™ - 10 fed. 1948.
(b) W YT FifrEw SRvEr feEean AT 3.
(c) wieaifaeg ¥d ye=n SquEr=n FrjeTdsstan siawf1a e,
(d) R gors sfyer fawn sua.

ang ygig fae
1)  (a), (b) MU (c) () (), (b 3mfer (d)
3) (@ (), (@9F (D) (4. WH(a)

Which resolutions of UNO have been rai fieu by India for protecting human rights ?
(@) Declaration of Human Rights 10 Lec. 1948.
(b) International Conventith ot the Elimination of Racial Discrimination - ICERD.

(c) Convention against the Fuin ination of all forms of Discrimination Against Women -
CEDAW.

(d) Convention on K ghts of the Child - CRC.

Choose correct opticn .

(1) (@), (b) ana(c) (2) (a) (b) and (d)
3) (@, 2, () and (d) (4) Only (a)

60. TR 2017 4E3 Fo S WAL ‘IMBAX W gE 9T A A ?

(1) WA - FHFEREA (2) ¥E - REAAR

(3) W4 - g (4) W@ - W™

‘IMBAX’ bilateral military exercise held in November 2017 between
(1) India - Kazakisthan (2) India - Myanmar

(3) India - Singapore (4) India - France

61. Hdied FEGAN SV €k TSI FOT oo quitaredre qaam Syl 31l e qEe
H e ?
(1) 7Y 5 - JIIn (2) TS - TR
(3) HAleH - HENE 4) 3NY Y - FAleF
Which of the following states have filed petition in Supreme Court for Restructuring of
Krishna river water distribution ?
(1) Andhra Pradesh - Telangana (2) Telangana - Maharashtra
(3) Karnataka - Maharashtra (4) Andhra Pradesh - Karnataka

el SHTATAS! SR /SPACE FOR ROUGH WORK
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62. (a) T-WIEA IO ¥ TRIA TER T e e
(b) T IS SOMHS YU S SR &1 G Wi Sl
(¢) ¥ YRAMS Hald oid I 3.
FISUHT IV ST 3R/ 7
1) (a). (b) 3 () @ @3,
(3) (a) 3 (c) (4) I
(a) The newly constructed Dhola-Sadiahricge s located on Brahmaputra River.
(b) The bridge connects the states ¢f +.ssam and Arunachal Pradesh.
(c) ItisIndia’s longest bridge.
Which of the above is/are corr *ct ¢ :
(1) (a), (b) and () (2) (a)and (b)
() (a)and (c) (4) Only (a)
63. ‘3EmM (Ashgabat, «T 1’ Gt Toe faum faerE =0

(a) W 22011 9 FE

(b) =N He sufern snfer aifem Tew umTie iR SRdE wefud wel.
(c) . IE THATE T HHIS A

(d) fFa™ g1 @ 95 AR,

T faymide! Hoe sier 31Rd ?
1) (@), @) (9 (2)  (b) () (d)
@) (@) b)) @ (4)  (b) 3 (c) wHA

Consider the following statements about ‘Ashgabat Agreement’ :
(a) It was signed in April 2011.

(b) It establishes international transport between Central Asia and the Persian Gulf
Countries.

(c) India has recently joined it.

(d) Pakistan is also its member.

Which of these statements given above are correct ?

1) @ @) ) (®) () @

(3) (@) (®) (), (d) (4)  (b) and (c) only

FoAT FIEIS T /SPACE FOR ROUGH WORK

P.T.O.
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64.

18 A

(a) ST & IRaANe Ifees Fefie® 4 e,

(b) SFRIEY TG TR TR,

(C) TR A 3MA.GE.3E. .3, (ICICT) S e ¥, fo v 5 IR,
FASIHT HIVE TS 3/ 2

(1) (a) ¥ (o) @ (@ b)dfE

(3) () @ @)

(a) Akodara has become India’s first digita’ villag»

(b) The village is located in Maharashtra,

(c) The village is adopted and develoyed vz ICICI bank.
Which of the above is/are true ?

(1) (a) and (c) 2) (), (b) and ()

(3) Only (a) (4) (a)and (b)
65. g e e :

(1) oy, Hid snam - afdg vl

(2) Ay, 157 o <@ - SR

(3) SwAm 21l Ot s - oo e Hem

(4) AT, TS SR SR - fa e €

Identi'v > correct pair :

(1) Vize-Chairman, NITI Aayog - Arvind Pangaria

(2) Chairman, 15t Finance Commission - Y.V. Reddy

(3) Chairman, 215t Law Commission - Balbir Singh Chauhan

(4) Chairman, University Grant Commission - Virander Singh Chauhan
66. (a) 153 fa9 MR .. fam ¥ sreay oA,

(b) wIRdra dfgumme foag smmmen seoa e,

(c) fou amdm g onfor T weyge w9 fawre W € 3.

TS HIOR TS 3T/ ?

(1) ¥ (a) (2 (2) T (b) (3) (@) #I () 4) () (o)

(a) The 15t Finance Commission is headed by N.K. Singh.

(b) The Finance Commission is not mentioned in the constitution.

(c) Finance Commission decides how revenue is distributed between centre and states.
Which of the above is/are true ?

(1) Only (a) (2) (a)and (b) (3) (a) and (o) (4) (b) and (c)

HoAT HIMTETS W /SPACE FOR ROUGH WORK
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67. (a) §d THEw fawE ek sweaTe (IDI) 2018 TR MRATE 62 1 HHiE M.
(b) T TS SR b TS L.
(c) SR (IDI) = T A9ES ¥ ofRd qeat fn foamy, waaw@wsEa 3o iR
fdidie T
TSI HITM TUER /4?2
1) @ () (2 (a3 () Vi BE(a) @) (o) 3 (o)
(@) India ranked 62" on Inclusive Deytlopmer.t Index (IDI) report of 2018.
(b) The report is prepared by World Lank.

(c) The 3 pillars of IDI are grow aad development, inclusion and intergenerational

equity.
Which of the above is/7ve true .
(1) (a), (b)and () ?) (2, and () (3) Only (a) (4) (b) and ()

68. WRA I TSR e =T THAT T W AR U
(a) T g5 TSl & MY TE FYT I I AR
(b) & T oHa d GO Nl U,
(c) <1 TIEN Aee. 2017 HEd ITHRA FUAR TS,
(d) TSN FHFEER = W= GavuE e et e rafae.
TPt He faum SWER 3R/ ?
(1) 9 (a) (2) e (a) T (b)
(3) (a), (b) 3T (o) 4) (@), () () (d)

What is the feature of Second Train connecting India and Bangladesh ?

(a) Known as a Bandhan Express.

(b) Runs between Kolkatta to Khulna.

(c) Inaugurated in Nov. 2017. ,

(d) Hoisted the green flag by both Prime Ministers through video-conferencing.
Which of the statement/s given above is/are correct ?

(1) Only (a) (2)  Only (a) and (b)

3) (@), () and (© @ (@), ), © @

HEAT THAMIS! SR /SPACE FOR ROUGH WORK PT.O
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69. F= AR ‘HHed' (SANKALP) 1 FEHwTH 3fEe 3R,
(1) 2025 vdq &R e,
(2) AT NET WS IIALIUaN 50 Toh TEs W Tidedt il 7o,
(3) FIT"? I 3.5 HIt TEUHT STR-He 4 FRIE (marlket-relevant training) <O
(4) T YT S WEEe (BPL) Fail asaEl € T (7)) =R 30,
The aim of the 'SANKALP’ Programme of Unior: gc verni.ient is
(1) eliminating the tuberculosis by 2025.
(2) reducing the poverty level by 50% from the e isting poverty level.

(3) providing market-relevant training ‘o 3.0 crore youth across the country.
(4) providing affordable houses to ruial UPL families.

70. ST S[eed
W JYRIIT Tl 3y
(a) =R (SWATHI) () TS TR aEvt F e Tgt
(b) 73 (NETRA) (i) IESEINT Uehe BN
(c) 99¥ (Dhalush) (i) T TR TR
(d) TR (Puea) (iv) °TEe Ak
i 7

faj o) (c) (d)
(1) Gv) @) @) @
2 @ G@v) @ (i)
@) @ (@) @ @)
@) () @ Gv) (1)
Match the following :

Defence Equipment Its purpose

(@) SWATHI (i) Airborne Early warning and control system
(b) NETRA (i) Multiple rocket launcher

(c) Dhanush (i) Weapon Locating Radar

(d) Pinaka (iv) Heavy artillery gun

Answer options :

@ () (o (d
1) Gv) (@) G @
2 @ @) @ (i
@) @O @@ @ @)
@ @) @ () (1)

FHeeAT HITETS 9T /SPACE FOR ROUGH WORK
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71. (a) Ifed TS AN (INX) ¥ 9RaR 9fed AU WoR 9NN S5 2017 Wit
ST 3.
(b) INX HegAE .
(c) T 22 O INX SHeRNEE! o Ufee.
SIS HIUT ST 3T ?
1) @ O 2 @B O ) () (4) (b) 307 (c)

(@) The India International Exchange (INY) .2 In.ia’s first international stock exchange
opened in 2017.

(b) INX s located in Mumbai.
(c) INX will remain open for frauing tor 22 hours a day.
Which of the above is truc ¢

(1) (@), (p)and (c) (=) (a)and (b) () (@ and () 4) (b)and (o)

72.  VRAME UER g99 A 7 A SEET (NWAP) 2017 - 2031 9164 @ote four faemm = .

(a) @ TR T a3 Fidl e k.,

(b) TR UG T TS Fal ARTGS § AfGA 31 3T FRU AAS WRAH G A=
ST 1 IgSieier IO YRS fed e et SR,

(c) TIBR FIsita Hadamed wreil &= dred! firer TEfga Foam el S8

TN HIUG fauH/ e 3/d ?

(1) &K (a) (2) (a) S (b)

(3) (a), (b) M () (4) ¥ (b)

Consider the following statements about National Wildlife Action Plan (NWAP) of India
for 2017 - 2031 :

(a) This is the Third National Wildlife Action Plan.

(b) This NWAP is unique as this is the first time India has recognised the concerns
relating to climate change impact on wildlife.

(c) It underlines increased role of private sector in wildlife conservation.
Which of the statement/s given above is/are correct ?

(1) Only (a) (2) (a) and (b)

(G) (@), (b) and (¢ (4)  Only (b)

HEAT HIAMTS ST /SPACE FOR ROUGH WORK

P.T.O.
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73. Wee faum faarm =

(@) YRHAE (ST SR 262 (2) § GUeH HIFUER SFaWF i Q=1 qoit desaea
Haioel =TT STl 3 ATATeaTsT] SRR &3IE STEhIa BRI el Shvar SR
2.

(b) 16 WA 2018 TSt FEA WU deTremed qaizw ARGAH e Feoms Tt
=aresar= dfifen srfusr g faar @el | 2 (AT=] 136 9 TIIRTER).

et 3 :

(1) <=E faum steR 31eq. 2) Fhde faum (a) SR TR,
() TS faur gHE IRa. (4) e faum (b) s TR
Consider the following statem¢nts :

(a) Article 262 (2) of tiie Indian Constitution empowers Parliament to enact provisions
barring the jurisdi tion of fae Supreme Court or other courts relating to water disputes
of inter-state rivers.

(b) The Suprerio Coult verdict on Cauvery Water dispute of 16th February 2018
expander the appellate jurisdiction of Supreme Court (by giving re-interpretation
of Article 130,.

Answer uptions :
(1) 5ot the statements are correct (2)  Only the statement (a) is correct
(3) D¢ th the statements are false (4) Only the statement (b) is correct

74, WOBGIH BV T4 TE@e R ?
(1) ST ARSI R & 15 ST,
(2) JTALH ARAS AR Seie Head 5 a9 S
(3) SO AGIRTe A fee & g3 U dee=a I sTftr ean |ibd
Hgd B
(4) I qoE Her AE AR Eead T Fae wet STk,
Which one of the following statements is incorrect ?
(1)  The total number of Judges of the International Court of Justice is 15.
(2) The term of office of a Judge of the International Court of Justice is 5 years.

(3) Judges of ICJ are elected by the UN General Assembly and the Security Council.

(4) Justice Dalveer Bhandari has been re-elected to the International Court of Justice.

oAl HAATS AT /SPACE FOR ROUGH WORK
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75. WIHA BhT A=A T favd, HTe, TaH™ 9 o A1 Hheddial Ay ol
3L,
(1) e feam
2) &S fewd o A
(3) = S feeed
(4) =% Bow I e greed 3fT icd v
Stephen Howking’s book is related wiu tne concepts of universe, time, space
and gravity.
(1) Grand Design
(2) A Brief History of time
(3) My Brief History
(4) Black Holes and Baby Uniwurse ain 1 other’s Essays

76. oo WTCieh e Vel WG TR Y & T Ty TS ARd. Tgod Wi faean e &t e,
o Wi T U ST A,/ (GoATe WTeish Thy Y&l el STed.  Welld Al v i
3red ?

(1) fe=n 2) w () ® @ =
Priya scored wiore © an Neha. Harsh scored as much as Rakesh. Rahul scored less than
Divya. Nelia ¢cored more than Harsh. Divya scored less than Rakesh. Who scored the

lowest 7
1) "Divia (2) Harsh (3) Rahul (4) Neha

77. o s fom ot @@= qeg SeHETarEet A YR B T 3 T ol e wd aravard
3. B R ST e o el Tl 30 fohet at A e S et arft wued 10 R SR
1. At e St e o et w20 forlt ofm e, SR SiE T Jei v
& ¥l 3o @ free <efaom sfaa wafg fast
1) < e o e gl .

() &G YUl FoaEE! T feaen S 9 Saet.

(3) wa ol vararEl feH T sty des Haer.

@) e Hedee! ot Tifed gt ==

For testing their stamina Zina and Dina decided to have a cycling race from point A to B
and back. Zina averages 30 km per hour to B and 10 km per hour to point A. Dina
averages 20 km per hour in both directions. If both began the race at the same time select
the appropriate option that indicates the result.

(1) Both finish race at the same time.

(2) Zina took more time than Dina to complete the race.

(3) Dina took more time than Zina to complete the race.

(4) Data given is not sufficient to determine the result.

HTAT IS FRT /SPACE FOR ROUGH WORK PT.O
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78. SR xyz=>320 T GAGIH! x 9 T FIEH 1Y WHd A& ?

1 3 2 2 3 0 4) 5
If x'y-z=2320, then which of the following cannot be the value ¢ x 7
1) 3 2) 2 3 o 4 5

79. TGOS TS @, ©, $, % N0 # & o @i 3gR @1 o IR,
‘U$V’ =1 31, U & V a7 HigT el
‘u@V’ =1 34, U 81V e T8 et i V & J9H e,
‘U#V’ =1 31d, U 71V &l o8 e,
UV’ =1 Y, U BV U&T HiaT 18t 31ft V o) 99F e
‘U%V’ =1 31, U &1 V Y&l T&F miel 2710 v A&7 HIST -Tel.
1 mifedien suR fedem FraMacE 7 e freraiarEa g vaig faae
faam:  A#B, B@S, (5Z, 2%°
frepd: () PeC (1) P%S () A@S
it S
(1) wF =S (1) AR
2) wECHEE (1) W
(@) () R (1) SR
@) T =Y (1) fhar (1) sheR snftr frspd (110) SR
In the following question, the symbols @, ©, $, % and # are used with the following meaning
as illustrated below : ‘
“U$V’ means U is not greater than V.
‘U@V’ means U is neither smaller nor equal to V.
‘U#V’ means U is not smaller than V.
‘UOV’ means U is neither greater nor equal to V.
‘U%V’ means U is neither smaller nor greater than V.

On the basis of above information, select correct alternative about the conclusions, derived
from the given statements.

Statements : A#B, B@s, S$Z, Z%P

Conclusions : (I) P@S (II) P%S (IlI) A@S

Answer Options :

(1) Only conclusion (I) is true

(2) Only conclusion (II) is true

(3) Either conclusion (I) or (I) is true

(4) Either conclusion (I) or (II) is true and conclusion (III) is true

HeAT HETEST S /SPACE FOR ROUGH WORK
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80. TR, YA T IfeRen TS wHd W fhua s 16 A9; Wl ¥ 30 e swwoen
12 9&H; Wt X 10 fbma srwoean 10 At orfor vt W =@l 9 U U aren e
TRmdrae T 35 FHI fhod SO0 6 GISTER GGl &0, JAHeT @9 ool T @Hd Eau
i e
(1) T910 (29 T778 (3) T 1010 4) T 738
Anil purchased 16 pens each costing eight rupees niore thai: that of a single pencil;
12 note books each costing ¥ 30; 10 pencils each costirg < 10;4:nd 6 erasers each costing
T 35 less than the combined cost of a single note book ad a pencil. Select the option that

indicates the total amount spent by Anil.
(1) T910 (@ %778 5y, 1010 (4) T 738

81. WH® YHH (: 1) A1 Fa=re Teiwelo 24 yHey fafire ey ot 9 a9 bay Seatseio
T TEHEY IR, R FeAragr=n A A 1 fae,
CLOSE : DNRW]J :: OPEN: _2
(1) PRJO (2 RFPB (3) PRHR (4) RZWR
In the following question/ were .3 some relation between the two terms to the left of (: :)
and the same relationshi » holis | etween the two terms to its right. Select correct alternative
in place of question mar:
CLOSE : DNRW] : : OPEN: _2 .
(1) PRJO 2) RPJB (3) PRHR (4 RZWR

82. et wifec = figees aman anfor e S<R .
foig A & =g s = ufteien 8 Weta STk
foig. C 21 & 1 B =1 3farren 4 HietaR IR
foig D @ fig C = @ 4 Hiewr a1R.
fg E &1 fog D =11 it 7 Hiew 3.
feig F =1 fsig E =0 ufyesde 8 Hieter ok,
foig G =1 faig F =1 <fdren 3 et o
foig F &1 foig A 9 forct R aR ?
(1 7HA () 11 #He7 (3) 4 "X (4) 5 HIX
Read the information carefully and answer the question.
Point A is 8 m. to the West of point B.
Point C is 4 m. to the South of point B.
Point D is 4 m. to the East of point C.
Point E is 7 m. to the North of point D.
Point F is 8 m. to the West of point E.
Point G is 3 m. to the South of point F.

How far is point F from point A ?
(1) 7m 2) 11m B 4m (4) 5m.

AT HIUTES AW /SPACE FOR ROUGH WORK PTO
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83. el faf¥re Widkfaew w¥d, ‘Ka Bi Pu Ya' 91 &1¢f TR ' g9 ¥R 3789 ’; “Ya Lo Ka Wo’ &1 31
R ‘9 YU IR SAK ' ‘La Pu Le’ 91 314 ' WIg ¥kal’ & ‘Sun Pun Yun Ya' =1 31 ‘< feeeft
TR oM’ o Tafire wikfoe wie ‘ s’ & 31l Wi wiee o ?
(1) Ka (2) Bi (3) Le (4y Pu
In a certain code language, ‘Ka Bi Pu Ya’ means “You are very int lligent’; “Ya Lo Ka Wo’
means ‘They seem very intelligent’; ‘La Pu Le’ means “You can sce” and ‘Sun Pun Yun Ya’
means ‘How intelligent she is’. In that code language’ wtiich of the words means “are’ ?
(1) Ka (2) Bi @ e (4) Pu
84. vy femgrean fowmlt Jrg waig freret.
S 4x5=1620
5x6=2530
6 X 7=3642
al  4x9=7
(1) 1636 () 181 (3) 1664 4) 1645
Select correct option in | lace of question mark.
If 4x%x5=1620
5% 6=2530
6x7=304.
Then 4x9= |
(1) 1606 (2) 1681 (3) 1664 (4) 1645
85. W &ih % W a, 3 3T, b, 5 S, ¢, 7 31, STV AYHD, G T Hishfersh Hd 'SPORTSMAN'
T v e fofean Adw ?
(1) 39333137413927329 (2) 39333141413927329
(3) 39333137413127329 (4) 39333137373927329
Ifais 3, bis 5, cis 7 and so on; in a code language, then how ‘SPORTSMAN’ can be
written in that code language ?
(1) 39333137413927329 (2) 39333141413927329
(3) 39333137413127329 (4) 3933 3137373927329
86. TEISUS! AU AT WEAT WE HIvRT ?
92432, 48422, 67626, 78428
(1) 92432 (2) 48422 (3) 67626 (4) 78428

Find the odd man out, among the given number groups.
92432, 48422, 67626, 78428
(1) 92432 (2) 48422 (3) 67626 (4) 78428

oA HIWEIS 9 /SPACE FOR ROUGH WORK
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87. HTEl AN RIS TS U eRHTH G5t 3R, TS 31&R Afohdle FHATER TH T4=@
e oTa. @ walg Frael
_abbb_bbabb
(1) aab (2) bab (3) abb 4) bba
A letter series with some missing letters is given. The missing Iotte s, with the sequence in
the series are given in one of the options. Select that opion.

_abbbbbabb
(1) aab 2) bab 3y abb 4) bba

88. TehI Hishfdeh W¥d S OVER  Tishdeh €9 QYIW 3.3 (X STAR ™ Hichideh & H1E 3THG ?

(1) UWEV (2) UWDV (5)7 UVBS (4) UWEW
In a code language if OVER is coded at () /TW then how STAR will be coded ?
(1) UWEV (2) UWDV (3) UVBS 4) UWEW

89. WiiaEe ot e wied snapn nf TR 3faa Ju wOmT v faer -
TRt X - 30 Ya WSt rw FaAlq e Yo Wl
W Y - 36 V& TRM 31 TS Fatd Wil a3 T
(1) X & et 2 e
) Y#HITAA AR
(3) X STeY = i Wik .
(4) - TH ¢ 7 ZEAE WeH TEH IR,
Study thie information given below about quantities and select option that describes these
appropriately.
Quantity X - The least prime number greater than 30
Quantity Y - The greatest prime number less than 36
(1) Quantity X is greater.
(2) Quantity Y is greater.
(3) There is no difference between the quantities, X and Y.
(4) One quantity is less by six than other quantity.

90. ‘ADER 1 31&R T[S Th &R THAE a9& fohdl A0 68 TR L 9af1s ?
1 1 2 2 (3) 3 (4) 3 & S

How many meaningful words can be formed, from the given letter group, ‘ADER’ using
one letter once ?

@ 1 2 2 3) 3 (4) More than 3

HoAT HIMTEES FAT /SPACE FOR ROUGH WORK P.T.O
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91.

28 A

T oY AT e STST=AT SATA g STH T el SarsAl 1/3 38, He=A e
8 IUHIE a9 50 I8 IS W AY= dfguiia T 99 fohedt ?

1 7 2 5 3 9 4) 11

Madhu’s age is twice as that of his sister’s present age and 1/3%"f his mother’s age. The
age of Madhu's mother after 8 years will be 50 years. Whadis\re Mcdhu's sister’s present
age ?

x 7 2 5 3 9 4 11

92.

THT TAd STATTeA TATH 6 Bieh S MeA. QA auiial | Fiw TR o 43 BEe S0 Waell ==,
T A ST, = Hears GUE 99 45,500 o} |6ed] i qears 99 fodt 2

(1) 52 (2) 69 (3) 43 4) 31

6 persons are standing in a queue with dilfercatages. After two years, their average age
will be 43 and when seventh person’jyins them; the present average age becomes 45.

Then what is the present age of the scverith person ?
1y 52 (2) 69 (3) 43 4) 31

93.

94

fafere wfdhe dod @0 & o gEe oD e, gl faere fownl A vaim
forere.

EAR OF GET MOUTH [vOLY TAJ _2

(1) BOY (?) KID (3) GIRL (4) TUB

A word series with soae logic is given below. Select the correct option, which will replace
the question 1hail

EAR OF GI:I'MOUTH IVORY TAJ _2

(1) BJY (2) KID (3) GIRL (4) TUB

. &= i_wrm@amﬁmﬁ%mmﬁwmﬁa@

2,8,206,80, 2

(1) 420 ) 316 (3) 286 4) 242
Select proper option in place of question mark, in the given number series.
2,826,802

(1) 420 (2) 316 (3) 286 (4) 242

95.

39 2 IfE1 UIER a 3R, 2 @ /3 A1 qOIER b SR 3 2 F /6 Al UMK ¢ AR, K
x B a & b A A T YW, y ¥ 6 9 (5~ c) A [UNHR IFHS A1 2 &1 2 =097 o 3 =1
i1 TUTR 3TES W ay/z =t T g ?

1) 1 (2) 30- 126 @) 30+ 126 (4) 36

a is the product of 3 and \/i,bis the product of 2 and J3, and c is the product of 2 and

J6 . If x is the square of the sum of a and b, y is the product of 6 and (5—c) and z is the
product of square of 2 and square of 3, then what is the value of xy/z ?

1 1 2) 30- 126 (3) 30+ 12V6 4) 36
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96. x+y‘ﬂ’T37{%fx,y?ﬁﬂ'€Fﬁ3ﬂ%.
x—y‘ﬂ’Tﬂﬁx,y‘ﬂ’T‘iﬂE\'ﬂ'l%.
x+y?ﬂ3:l%fx,y"3‘cl's'°|'653?1%ﬂ.
xxyﬂ&ﬁx,yé}aﬁmm.
T WS Iiaeh! i aremel 31 1, | =) 9= 3T, 979 =l 2
(1) J-N=+CxI (2) I«C NI
3 J+MxC+I 4) IxC -N-J
x+y means x is a daughter of y
x—y means x is a brother of y
x -y means x is a father of y

x Xy means x is a sister of y

Then, from the following aitertiativis choose the statement having meaning, [ is a niece

of J.
(1) J-N=+CxI (2) IXC-N=]
3 J+MxC=! (4) IXC+N-]

97. ‘A+B W34 AR B TES IRA.
‘A—F = 3% A € B S Ul IR
‘AXT A1 3E A T B W IS IR
‘A+B = 319 A § B = oIt TR
RS—T+Z 30 W GO@uS! G faum Hiv ?
(1) Sgzdgeiam 2) Z§S - FIE AR
(B) S®Z < Fp IR (4) S&Z < emE M.
‘A +B’ means A is the father of B.
‘A ~B’ means A is the wife of B.
‘A X B’ means A is the brother of B.
‘A+B means A is the daughter of B.
If S—T+Z, then which of the following is true ?

(1) Sis the daughter of Z. (2) Zis the aunt of S.
(3) Sis the aunt of Z. (4) Sis the mother of Z.

He RS SR /SPACE FOR ROUGH WORK PT.O
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98. @ #, %, z MU © AN Hhai=al WIASIHI START HFSA L.
‘A@B’ =1 31 3R, ‘A, B U8 @R L.
‘A#B =1 319 3R, ‘A’, B Y& @R &l 3T B TS TR,
‘A%B’ =1 HY AR, ‘A, B Y& HiaT L.
‘AOB’ =1 Y 3, ‘A’, B & HiaT AR) T B Vayn weE A
‘AzB =1 HY AR, ‘A’, B U&T WSl A&l N B TAAL A
T =R faum it e sees 3 feet fds oRe -
faem: @) J#H () HOT (¢) TR (d) R%F

Fred: () J#R (I) R#F (JI) J#T

Freratarea @g T e
(1) w (I) 9F I (2) HE (I) 3N (1) HH 3.
() W () TF 3le. (4) W& T ARA.

The symbols ©, *, %, Z and © are used as follows.

‘A@B’ menns “A’ is not less than B.

‘A#B & eans ‘A’ is not less than B and not equal to B.

‘A%B’" means ‘A’ is not greater than B.

‘AOB’ means ‘A’ is not greater than B and not less than B.

‘AzB’ means A’ is not greater than B and not equal to B.

Four statements and three conclusions derived from them are given below.
Statements - (a) J#H (b) HOT (¢) TzR (d) R%F
Conclusions - (I) J#R (II) R#F (III) J#T

Select correct option about conclusions :

(1) Only (I) is true (2) Only (I) and (II) are true
(3) Only (III) is true (4) All are true

HEAT HETATS AT /SPACE FOR ROUGH WORK
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99. W fevse seHIfeFde FRAfagren S A g3 e -
EYP, FUR, HQT, _2_, OIX.
1) IMV ) KMV (@) LNU @) JLV
In the following alphabet series choose correct alternative in"plac of question mark.
EYP, FUR, HQT, _2_, OIX.
(1) IMV (2) KMV (3) LNIU (4) JLV

100. T T de wifesa wet fameren sl v en He ?
5, 54, 90, 115, 131, 140, _2__
(1) 149 (2) 146 (3, 144 (4) 152
Which number will come in place of ques ion mark in the following number series ?
5, 54, 90, 115, 131, 140, _2__
(1) 149 (2 145 (3) 144 (4) 152

-00o0-
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Tl — (Y85 1 67 [R.... )

©®) TEIRaene fafen w3 fofite sre = W (T6 9%) =@, THYfasafaied Swul@ar ar
TR FIRER FH FH Hedd § Hidl FOI M FS IR, S A TS § WHIR IHEARE
TRAM S e ' Theiaed B IRUERAT Sisy st afuf m-g.! anie TEeiTaR SR
FOAR AT T QN FKA FUG T THreq1 HRIEr i/ fhar 36 Uo TR WEe <sre e
R e

9) TR TAUFHAR IEH fafsa FOR o5 TUEHER SHEIN T @ AFIRAH T SeR TR
U IE [EEE SR, WA GO STAred v T g re uedr S e - 1
AT S T faaar Wa &0l ayae® STE

. <. 201.

. <h, 201.

AT 91
HAE A0 T HIOFEE! HIU T TAT HS ?
(1) T SEER et (@ TwEREs faamrr
@) T OHHEEA 7Y @ TR e
YR G SR (3) T AR W'’ 3 TR, WM 91 999 3 '(3)"" e, Irad
WIAGIATO T 7 6. 201 FH® SWR-41% ' (B)"' ® e Toiudt smiferd F& qraferd e
AR,

ORGN MO

JHM Y AT T IYiaadie T TEET JUEl SW-SHE § ORI Sasie giaaedn
20 Freale @ @ WisNEEHNe detdd ade il sEifed € qraadl.  greniear
7ol hTedT YIS Siosi AU, U ar ynga U amue &,
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